
Answers

Price Worksheet

1.  Cost and markup on cost for each item is given.  Figure the retail price.

Computer

cost = $ 800

markup = 35%
retail price = ___ $1080__


800 x .35 = 280

800 + 280 = 1080

Refrigerator

cost = $1100

markup = 28%
retail price = ___ $1408__


1100 x .28 = 308

1100 + 308 = 1408

Coat


cost = $55

markup = 100%
retail price = ___  $110___



55 x 1.00 = 55

55 + 55 = 110

2.  Retail price and markup on retail for each item is given.  What is the cost for each item?

Table


retail = $650

markup = 45%
cost = _____ $357.50____


650 x .45 = 292.50  

650 - 292.50 = 357.50

Boots


retail = $220

markup = 40%
cost = _____ $132.00____


220 x .40 = 88

220 - 88 = 132

Desk


retail = $1000
markup = 50%
cost = _____ $500.00____



1000 x .50 = 500

1000 – 500 = 500

3.  Cost and markup on retail is given for the following items.  Find the retail price.

Shoes


cost = $45

markup = 38%
retail price = __ $72.58___


45/(1.00-.38) = 45/.68 = 72.58

TV


cost = $180

markup = 60%
retail price = __ $450.00__


180/(1.00-.60) = 180/.40 = 450

Lamp


cost = $95

markup = 30%
retail price = __ $135.72__


95/(1.00-.30) = 95/.70 = 135.72

Custom Resources File, Pricing Worksheet Answers

